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SECTION — A

Analytical Ability

| T ot
Questions : 75 Marks : 75
BFywe 75 Srdop et 75
(i) Data Sufficiency i _ (Marks : 20)

Sgrod Horghd .

Note: In questions numbercd 1 to 20, ajquestion is followed by data in the form ol twa

statements labelled as T and IL You must decide whether the data given in the
statements are sufficient 10 answer the questions. Using the data make an
appropriate choice from-(1) to (4) as per the following guidelines

| (@
2 (b

3 (€]

4 (d)

3
¢
(23

Mark choice (1) if the statemient T alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the quostion.

Mark choice (3) if both the statements T and 11 are sufficient o answer the
guestion but neither statement alone is sufficient.

Mark choice (4) if buth the statements I and 11 together are not sufticient to
answer Lhe question and additional data is required.

2108 20 HIH quyd (B8 @%g_tﬁ"ﬁ).a 2.8 (D7), o |80 1 II 98 Hhiden o

Toth |[Dhdaren Sgrodorr @RgaETa. ATyD Sgromdy GHaIrno,

aiyd EHdTe PHd SrEred) adjoms dorgaro sealr Blay
03 Do Jgrdowd. G %gﬁésaéa Bob rdidE dreres GRobrAoD
(1) B0 (4) 5% B0 wond e Job¥ Bubod :

i (&)

9, ()

By Bhrpto afhodh® [Hike T inEH dogiiond b smmw
(1) e $80508. '

(B3 Sdrerdo aiohd @iddno I S| @5 Doeghisond D ey
(2) v ?bgo{‘fjo&_

D% Sarerde adyothd BT 1, 11 o Hoegiaw s otied®
D e & Sra Homgho STEDE L weeen (3) m 0goS0d.

S dhrgrko adjodd Bhdamm I I Sod Srar Hoigho =78

| w&sh) STro%o eddsiond D ware (4) m HEoSod.
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1. Whatis the areq of the circle 7 [ L}i- j o
2y Segod ?
i P The centre of the circle is 0, 0.
@ %8 ZoBa (0, 0).
L The point (2, 3) lies within the LilC]D
Dok (2, w Do STe Goa.

2. What is the valuc of 2 - Jy? E.‘B j
vk 3y Dend Jog ?
L xty=2
L 3x-2y=1 -

3. What s the valuc ofp’+q*r [ Lj' j
g Fg? Dend Do 9

1. pz 1 q")‘ =74

4. After how much time wil] A meet B 7 E = j
D0 #3050 $ovgs B D A Senton ? |
I A and B arc at a distance of 50 nietres from each other.
A Bevaderd 558 50 8 DOY ErFod” dam av.

. AandB are movmg in the opposite directions wilh respeclive speeds of 10 kmph and
15 kmph.

A, B en 385 dobi 10 &.00., 15 &.5p. 3??055 XBE S ESendmon.

5. Ifa>Othenisasbh? 427
2> 0 wowd a>h eddom ?
L aZ = h?
a 2
IT, 5=3



10,

Is g : IR —->R an even ﬂ.mction 7 L_i J -
g:R—R 28 08 [Habair ?
1. glx)=g(—) foreveryx € R
B8 xeR8 glx) = g(-x)
. g(x)is a polynomial of even degree. )
1(x) 930 $8 Bopgh Hrdomr KD wadd.

What is the cost price of the article 7 [[ 3 j
© Y Fh) Fo dod ? -
1. The selling price of the article is T 50,
& iy wano du T 50,
1. The profit is 10%.
ergio 10%.

What is the positive integer value of x ? I i j
x Gludy, $ ¥rgrol Dend D6 ?

L 16=<35x+1<286

I el 22s

What is the present age of the father 7 [ 3 _]

0B Bpd DoXnyed ?

L The sum of the present ages of the father and his son is 46,
@ $o|d, edl Bardd [Hipd Hablne dwdo 46.

Il 5 years ago the father's age was 3 times that of his son.

5 Soddyore (880 S0 Habilny #5 Hirdad HAtyE 5 Téw.

How many elements dre there in the set A 7 C 3 _ j
Band A S8 Oy SarosrenTyon ? :

E AUB has 25 clements.
AUB & 25 ‘é:mmsvma“lm.

L B-—Ahas 15 elements.

B - A & 15 Surestensma.

s
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11.

12.

15,

: How many brothers does A have ? L© & j

A8 Jod o TiSthenamt 7

L A’s father has four children.
A S0(G8 Denibih Doen,

I - Aisthe only daughter of her parents.
A 8Qdo|thod ud o) # Erad.

In the right-angled A ABC whatis A2 (4 7]
von Fldud A ABC &° 24 Joé 7

L  ZB=30°

IL. LA+ L0290

Whal is the perimeter of the circular sector 7 Ef} j
HHBod WY DeEod Jok ?

I The angle of the sector is%'- '

?}563 %‘mo%

II.  The area of the sector is 6% square units.

DEL Jrego 6 WS alrdip.

Is the product a-b an irrational number ? [ L j
onoab 2.8 gedan & Sogrg ?

I. a is an irrational number.

a &l B5efod R’)omg.

1.  bisan irralional mumber,
b 2.8 $8eath Bomg.

Is the valug of x unigue 7 ]:‘ o :[
x eod JBESR 2 '

L x<Q

oL =15

5 ' E.T.0.
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20.
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Tsx>y? | C3 j
x>y waydoqr ?

T, 5% =25Y
. y=-2

Witiiieasorianor TE ]
AABC Ea‘@gﬁ)oé 7

I  ZABC=60°

I. AB=BC=CA=4

What is the average ofa, b,cand d? [ 3 J
a b, ¢, d o HoeHs wod?
L a. b, ¢ and d are primes.
a,b, ¢ dew D0 éo:pé;m.
II.  abycanddliein {10,11, 12, ..., 20}
a,b, ¢, d en {10, 11, 12, ..., 20} &° sz,

Is AABC right-angled ? =4
AABC wow $odhdo ?
L A lies on the cirele with BC as a diameter,
BC & 2.8 arghore HDG S)dop A sotwod.
II. A, B and C lie on a gircle.
A, B, C e 28 H80p sotron.

What is the value of V 7 l’- |

V dend Do 7
1. Visthe volume of a cylinder.
V af §J‘5@ PORDO X EC.

. The cylinder is of height h pnits.
og ‘;mé@ oo b ahraid,
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(i) Problem Solving

(a) Seguence and Sevies

(Al
(Iarks : 55)
{Marls : 25)

. Mote :

follow a delinite pattern is given. Each question has
filled by the correct unswer from the [our given oplions o complete the sequence,
wifthout breaking the patterm. ’

Mote

Tn each of the guestions numbered 21 to 35 a sequence of numbers or letters that
4 blank space. This has to be

21 % Fowth fod 35 B Sookh YL Ho B8 HHSr alys dopges MO,
L rre®) ol | EKSyeacs i i Zeddi 58 DS )

adoren o0 a8 @@mé@m‘é ?Jgizﬁfﬁil Frdamow. (22 Lg)‘é']‘ﬁzéjﬂ.dml
pedd, alyP Fw B Gro® B0 womd marandy AN, eDEl

DuErdE Yoo ¥phow Yroowd.

21, 5,10,30,150,1050,_ C4 ]
(1) 10550 (2) 11000 (3) 11525
8.8 5 2 .
12 i3i252g—1ay [93
3 e B 7
I S o ® 23
23. (2,5,9), (6,8 7), (10,11, 5), |, £1 3
Gy (4,143 @ (4134 () (12143
1827 84 26
2 5 grigt (7t ay L2
O T R LT () 1g
25. The value of the 13" term in the sequence
1.3,6,10, 15, ... is I
o g0 1,3, 6, 10,15, ... &7 13 8 $eiy Hend
(1 97 @/ o1 (3) 89
6. 24,35, 48, 63, .99, 120 L3 1
o 72 @) 79 vy’ 80
27, DFIK, GILN, ILOQ, _ ol T
(1) MPRO (2) MORP (3) MRPO
28, 2Ad,3ES, 416, gog- . LA 7
Ty sm7 @) N7 (3) 5p7
29. BDYZCA, CEXYDB, DEWXEC, _ L S A

(1) BDVWEC (3 EGVWTD (3) EGVWDF

7

(@ 11550

@ 25

@ (12,13, 4)

81
) 719
(4 83
(4) 87
(4}/ M().R'l‘
(4y 587

() BDVWCF

PEO,



30. ABDH, DEGK, GHIN, MneT 03 7
() JKOM () JLND @Y TRMQ
31 50:65::290" C 4§ =
(y o> (2) 226 (3) 260
32. 289:324:: 64 L2 2
: 1y 36 (B 49 (3) 55
33, LxM:12x13:Uxw: [1 ]
(Y 21x23 (2) 21=22 @& |91 =8
34, Foot:Inch::Yesr: .~ C 3 j
cchih : oo s oo : :
{1} Day (2) Week (Mronth
e B tetel S
35, 441:961::21: 2]
(1 11 @y 31 @) 6l
Note : Inquestions 36 to 45, pick the odd thing out. \
Brdd T 36000 45555 Ko [BHOST KBTI HYOSE.
36 (1) 35 @7 @y 17
3. (1) 14 @) 34 (3) 62
38, (1) (2.3.13) ) (3,4,25) (3 (4,5,41)
39, (1) Tuly (2) August - . (3}/Scptcmbcr
) wiR s wyowd
40, (13/}1' @ 111 (3) 111111
19 13 17
an. (W @ 17 @ i3
42, (1) (0l11), @) (1101), (3\/ (1111),
43. (1) 2W3 @ 107 (3) 1M3
4, o Erasis=0 Q) PE+ax+4=0
() x*dx+4=0 @ 2+2x+1=0
45. (1) 37 @ 47

( 3V/57
8

R

()

18NV-08
) ILeN
@ 325
@ 76
) 24%26
{(4) Decade
dmrge
@ 4l
4 143 £g 7}
& 96 rh A
@ 67 LY
{4) October {:SJ
@%‘saﬁ
i 040
@ 3 a7
@ @ooony, [ 3 ]
@y RS g ]
4]
@ 61 Cs ]
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(b) Data Analysis L. (Marks : 10)
Naote for Questions 46 to 50 : X }
The [ollowinig Pie diagram shows the marks sccured by a student in different subjects in an
examination. If the student scored 135 marks in Mathematics, answer the questions 46 to 50 afler
studying the Pie-chart. :

46-50 |55 08 B

2 éfﬁﬁcﬁ's&) 2EXS éaﬁqé:e:@ﬁ 2l Dogd @é@%";ﬁl ?’mﬁézr@:'a) g Bis 5 - Sho (ple-chart)
Benbdod. (B80S’ @ Drgd 135 ripen soed, 46-50 Phof (50O
% - HErd) HBFOOD e Digod.

46, What is ihe total number of marks secured by the student in all the subjects put t.ogelher 7
ody bryod” E8u ¢ gl BaiEy o Koy 0 O3 J
(1} 360 (2) 450 3y 540 4 720

47, Tiow many marks did he score in Science 7 o
Frioidg 908" odd B iy ety e 0 Y .
1y 108 @114 @) 120 @ 136

48, How many more marks did the student score in Science and English put together than he
scored in Social Studics and Hindi put together ? )
SN AR90 Bt aoﬁé& 00 with BUNED) amée wrdn e, Sraing g0
L0osn Trob 58D Bii)FY) Rwdo wrtin e L0 X B
ay o @ 18 3) 27 ) 45

49, Theratio of the marks scored by him in Hindi to the marks scored in Social Studies, is D—-[-]
rodSt with B8ER) Briy o, Froing wiyod” wdd BUANEY Srdn o o

408 -
(n 2:3 (2) 3:4 3y 4:3 (4/5 6
50, Oul of the total marks scored by him in the examination, the percentage of marks scored in
Sociul Studics is ' Low 1
w&d HOE Bugo Il b, FoPE Tgod® B EY) Srdn o A0
(1) 18 oy 20 3 25 . 4 30

9 ' P.T.O.
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Notes for Queslions 51 10 55 ¢

! Rach of the intcgers from 1 to 16 are to be placed on the Venn di.agram given below in the
appropriate regions A to IL Take '
5 = {the set of Integers from 1 to 16}

I = {Thesct of odd integers from 1 to 16}

Il = {The set of perfect square integers from 1 to 16}

I = {The scl 6l prime iﬁtegers trom 1 to 16}

H=8-f{lullul '

Answer the questions from 51 to 55 based on this data.

51-55 Bdos Srds _

1 903 16 $8% Ko drgrosced dhEd adyd 35 Hhed’ A Lo H 286 o @@rod’
BAG [PTHS” Groowed.

§ = 410D 16 H% Ho Prgroste D8}

i
I

{1500 16 HEH Ko B Hrgrosee D)
{15000 16 H8% fo H08rg B Sopge HLB}

M= {109 16585 do S8 Dogpge B8}

H =8 {IulluI
&1 Seromd) werdorr TWED 51-55 (o e Jigod.

51.  Which regions in the diagram are emply (not represented) 7 . C ‘]1 )
beood’ D) @z irdgin Soe grdm somen 7 '

(1) Gonly : (2) Cand Gonly

G fr| s C $0Bain G o |#ah
(3) AandFonly ' _ (JQ/'G and F only

A odofn I domgad G 3da B dr|dah

10



52. Which regions contain a single integer 7 C3 J
O [Sdwres 28 wf Prorol Soggd ¥HAKGD 7
(1) Band D only {(2) GandDonly
B 0ol D (&b : G Ddof D (3
31/ A and C only " {4)- Band Bonly
A Do C drjdd E 2000k B & (85
53.  Which regions contain five integers ? i i j
2 [pEmwe o Yrgeo¥ aoeago}sa EOR gamow ?
(1 Eand Honly (2) D andB only
E so0ak IT &r|éd D &bk B &r(#i
(3) Bonly (4) Aand Conly
B &or|$ab A Dbafy C &85
54, \.N.’hich regic;ns conlain lwo integers ¥ E Z j
2 BFwren Boch drgrod Hopgerd KOA Gomow ?
(1) LandFonly (2)/8 and D only .
E &80k T &m($ed B s»Bokn D soe|@ad
(3) A and E only ) {(4)  Conly
A Ho8un E dr(&#2h C dor|ab

55.  The numher of elements contained in the regions E and D put together is R J
E iuBodo D b Tod §98 &) hroste Hogg

ay 5 . @ 6 &y 7 {# 8

{r) Coding and Decoding Problems 3 (10 Marks)
Notes 1o Questions 56 to 60 :

In a code, the oM letter in English alphabet is coded to K fetter, where k = 3n + 2 (mod 26),
1 < k = 26. For example, the S'h letter E is coded as Q since 3 x 5+ 2= 17 =17 (mod 26) and Q

is the 17" letter. The reverse of this process is used for decoding. Based on this coding and
deeoding processes, answer the questions 56 to 60 ¢

56 — 60 (2% 0 Jeild

k=3n-+2 (mod 26), 1<k <26 wond, gofiin 8ifres™ nd viod) k & elbor
& Iy sordrdn 5 6 effo B 17 D effo Q m &8 AP, Jothded
Ix5+2=17=17 (med 26). HII D&% [_Z_;’b@oﬁ?&a) & §°5 Dol srderdh. & TR0k,
& 80 HBohed HSIrRod B 56 - 60 o sarwn Dagod.

56. The code word for STATE iz E L} j
STATE & §°G %o -
(1) GIEIG (2} GIEJF {3y GIEIP (4’)/ GIEIQ

i1 P.T.O.
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58.

60.
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The code word for MOUSE is Vs ]
MOQUSE 8§ &6 &0

(1) OUMQG (3 0UMGQ  (3) OUGMQ (4) OUGQM
The code word for JOLLY is 2 .

JOLLY 8 85 o C 3

(1) PASSY (2) FUPPL @/ FULLY (4) FOLLY
The word éade_d as XEDI is | E 1 I

XEDI r 88 Saveds ddo

(1) POLE (2) PALE (3 PARK (4) PERK

The number of letters that are invariant in this code is E 7.8 j
& §68° o 0B woeo Dogg

a1 @2 @3 @ 4

Note for Questions 61 to 65 :
L 61— 65 jBd 0 eSS

In 4 code, the n-th letter of un Unglish alphabet is coded to fn)" lelter, where f{n} is defined by

61.

6.

“n—1, ifl0<n=18
n—18,if19<n=<26
For decoding, the reverse process is used. Based on this coding and decoding process,
answer the questions 61 — 65 : ' '

fn+'l7, 1<n<9 wond
fmy=4n-1, 10=ns18 wowd

ln—lé@, 19 <n <26 wond
e fln) QEGLDETIPE, oy wilire $°) nd wifo fn) H wfdor F5
Sabwmdod. & ol Tobads, ) NS5 Hibd sDiBomd. & &aof
w00t & S8R Bl8abed werdore DLED, 61 - 65 [Pk v Diged.

n+l17,iflsn=9
fin) =

The code word for MANGO is E §es j
MANGO & 85 d8e ' _
(I} LSOYN ( LEMXN (3) ERLXN {4y KTPFN

The code word for RHYME is S b ]

" RHYME & &°& S50

(1) QZGNV - () PYGMU  (3) QVILV (47/ QYGLV

12
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63.

64.

(d}
6.

67.

68,

69,

The word that is coded as ROME is’ i P
ROME m &8 dobadd ddo
(1)/ APNW (2) ANPW (3) AOMW (4) AMNU
The code word for ICET is (= J
ICET & &°8 dé%o _ _
() ZUWC (2) ZVTD {3)/ZTVB (#) ZUTD
Which letter is coded as X 7 rz_ j )
LD wibo X §8 Dodudoh ? e
(1) F : (2}/ G 3) W 4 C
Date, Time and Arrangement Problems. . (10 Marks)

I is the brother of A, 8 is the sister of B, E iz the brother of I, D is the daughier of A and F
ig the father of 8. Then the uncle of E is T 2l
A 8 B T8G%tuth, B3 S %0; D & E IR, A§Dé§°é3c‘i) S&r bo@‘ @w}éo

E & Shddrinz acﬁanuo;jﬁ&)“lél 5 i
Iy A { B (3) E 4y F

A person X is facing North. He turns 165° in the anti-clockwise direction, then 30° in the

clock-wise direction and thercafter 90° in the anti-clockwise direction. Then X is facing

X o 58 addd) ¥y ok wdidhe £3S° 165° 800 @& Hod 30° dig H3&°
80N © $ugd 90° Dde by BES° BdmE. ey X S by,

(1) North-West (2) North-East (3) Soulh-West (43 South-East
arooRigo Grlgo S8 _ @ﬁlo:f;o

The ages of a son and his father was in the ratio 2 : 5 seventeen years ago. If the pl esent
age of the son is 35 vears, the age of the father 5 years hence, is
DETr Dobdyore (B0 af D, wid sode éo)’.ucoaaw JdPB 25 ©

&3 (Spé Hobidoy 35 paozbé’sgmaéf 5 Dodeyorw dooed Soi@ Hodiy.

{1} 62 years (2) 65 years

62 éoéé&mm : 85 DonEyorLY
33/ 67 years (4) 68 years

67 Downdyorew ; 68 HobEnoren

A lc ycar starts with Sunday. On what day will be the second of March in that year 7 E-BJ
%) vokdyic wbded AiTos. of Gods)¥o Hro) T e 2

Wd&é)éjo& ?

(17 Wednesday (2} Thursday (R/Friday (4) Saturday
endmeda rathardo | ¥ardo bt bviletel

13 ' B.I.O.
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71.

72.

73,

74,

75.
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: ’_}'*1);‘.5(2*1 ' :
Ifa*h=a’+b - 3ab, then (aii)z e j
(1l
21w (2x1)
asb=a'+b’- 3ab@m33{_ﬂg_r_ '
W 1 @ 3 v o

If A, M, D and S denote the usual addilion, muliiplication, division and subtraction
respectively, then {108 (3M4) D2} A3 isequalte  [C % 3

A, M, D, § en $853m Hofedo, Hinsde, gritdo, Hhdelood rdy iy
{10S(3M4AHD2} A3 & BErdRdd
{1 3 (lﬁ/f (3) 18 @ 75

b o
I[fasb=a+b- _az_ for all a, b € R and e is 4 non-zero real number, then the value of a for
whichasc=ais E'B 1
ab
PEabeR8axb=a+h —'12" eREr ¢ D) SO0 TR0 Dopg wand winpd

atc=a@®5§no§a§}wé

() o 2 1 ' (39./2 _ 4y 3
T2 15 the father of A, C is the wifec of B, D is the mother of C and E is the husband of D.
Then how is E related to A 7 —1i
ASBdEo® BECady; C8 DEY DEE S wipdh A S B DS
palotolntalld _
(13" Grandfather (2) Mother (3) PBrother-in-law  (4) * Father

aedh E19) ) utelfa

In a row of six persons, D and C are immediate neighbours of E, B is the only neighbour of
A and C is the neighbour of F. The possible persons occupying the two end points of the

row are % o

St Sgthend) o HENS'D, C o E§ (B B afd A D% sodm;
C o8 F o HU S° Bodh wohed® sodirdE wisto &) Rgen

(1), FandB (% AandF (3) FandC @ CandA

fa ciock shows 12 minutes past 3, then the angls between its two hands is Ez-j

&8 H@airdo 5 doten ard 12 Addren WrbE, wiypd o Soth dugwe Sogig Eeso
(1 86 (Y 84 (3) 80° @ 78°

14
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77.

78.

79.

Bil.,

SECTION -B
Mathematical Ability
AefE Jradsis

Questions : 75 - : : Marks : 75
|Poywa7s ) Srda st 75
(i) Arithmetical Ability ) {Marks : 35)
76. 1fu:b=4:5andb:c=7:9 thena:b:c= Cy 7
a:b=4:5280wbic=7:9wund a‘bh:c= ’ _ .
(1) 4:5:9 () 4:7:9 (3) 4:5:7 (4’9/28:35:45

G0 +8 = | L& g | -
(1) 242 +3 (2\}/\5 +4/5 (3) 3 +\[15 @) 57

When the lollowing fractions arc arranged in ascendin g ofder of magnitude, the middle one
is ' .3 j
25907
3 T34
(Bod Domyod SoErare effdrn Ehodt @Rddid, &65585‘9 _‘éﬁg&
233 27
3713 14’9 _
2 i 9 i
M 3 @ 3 o & @ 5
A and B started a business Investing £10,00,000 and 715,00,000 rcspc-.cti_\’cly and C joined

them after 6 months with an investment of ¥20,00,000.  The ratia bf the share of teir :
profits at the end of the year 15 E 2. J

A, B o0 R05m 710,00.000, T15,00,000 Dgoads arganoedy |@dofodid ¢ dvw
dhard C of 458 v ogardod” 720,00000 peass 88 todd oosod® &0
e e Jind '

8 3329 @y 2:3:2 Gy 1:3:1 4) 2:3:4

A man sold an article for T187 and gained 10%. The article was bought for E.B j
¥ 508 o8 Do T187 ok edndiyd 10% erglo 6oh, « Hhdd g 854
{1y TI50 (2) %160 {: 170 {4y %180

Is P.T.O.
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82,

84.

. 86
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A

1y rd < pdi 74N +h ! | .
i LE) ol a numbier 157q s then \%] of that number 1s L3 j

7

i 1 4
2.8 Boggd® T Sodi Ty wonB, © Doggd’ 7 dod
B 25 6 G
a1 7 2 5 . ¥ 3 @ 3
fx+y+z=0,then forany a>0, & a2 2207 = E b j
rry+tr=0wond a>08 oy 2 gty o
M 1 ) a (3) o @ &

Three persons A, B and C can do a work individually in 10 days, 12 days and 15 days
respectively. If all the three persons work together, the number of days needed (o complete
the same work is . 327 :

A, B, C o Swihd $gen 28 B30 G & HEm 10, 12, 15 Serod® Jabiied,
Bothdr 00 BITY © DO &r s a8 BF Terw dogg
(1 8 2 6 (W 4 @ s

By selling 15 mangoe_s; a fruit seller recovers the cost price of 20 mangoes. What is the
profitpercentage?-  ['3 7] ) '

a8 Do DK 20 trahd Dok 5“61 [ewn 15 ¥oeand E’J'\,‘&Q @‘éb&ﬁéo RO ﬁoa‘bcb"‘“g,
WD wmgl wrdto - '

. 200 100
(1. .25% @) 5% o =% - @ 50%

The monthly incomes of twe persons P and Q arc in the ratio 4 ; 3 and their monthly
expenditures are in the ratio 3 ¢ 2. If each of them save T 750 per month, then Q’s monthiy
income is | 5

P, Q 63 st fg&en F000 soralres 4 3 B S%r, 0 IUH0 PAEs 31 2
B Far aTmon. T 287 8 6 S T750 rdip TR, Q Sedd worabo
(1) 73,000 (2) 1,500 3y €2,250 (4 %3750

Two taps A and B can fill a tank in 12 and 18& minutes respectively, Both are kept open for
2 minutes and then the tap A is closed. In how muny minutes will the tank he filled ? |3 _

a8 M8 FHD Tod dodes A, B e DG 12, 18 Swdred® Joddow. Sok
Feravod B0 Tod dindre®H Ferow A I Lrddl O SJXJJJ_S':FE‘J'E &P '
Dothcoh 7 : '

{1} - 18 (Z) 16 _ (3)/15 (4y 13

16
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87.

88.

89,

90,

L f

g2,

A rectangle of length 12 em and breadth 5 ¢m is inscribed in a circle of radius r oM.
Thent {mcm) is 5 .

12 Do.0. &Y. 5 Po. . [bony Ko b =] iﬁéoé@ﬂalr 20.0. sgdo fio
Hygod’ Ted& N T (0.0, ©F°)

1y 13 Q) 12 (3/6.5 @ 6

An itera casting $200 is being cold out at 10% loss. 1f the price is further reduced by 5%,
the selling ptice will be Ez_

200 Erarcho ebi Ko SR 10 780 Hp8 ey ). @) ¢§t5 DEFE 5 Tdo
@Q 2, © L SRV ISR

(y T . (_29/?171 (3) T175 @ 17
64.-'3, 24 25
£ gl . 17172 =12 thena+h= E ﬂ‘ j
43 ! 125
Qm Mju 2322 won@ a b b=
= = AL 2

A train runs from station A to Station B in 1/hr, 20 min. If the train is ruﬁning at a ypeed of
18 kmph, then the distance hetween Aand Bis

2. Ben &L A ol B % d%5er08 ;&3 oo 1 Ho. 20 D, © Jew Kot
18 8.5, 3&0@ EPéJoB, @ Boz‘éo o Suiig ¢$:Pr250
(1y,/ 24 ks (2) 27kms (3) 20 kms (4) 30 kms

74 B.0u. 2785 20 §-f.‘b. 30 &by,

The sum of the even numhers from 100 1o 200 (both numbers included) is E_Q- j
100 S06 200 HS5% (Bod| n}og},zgw £0%) K 5B Hopgw Fw&o

G- @/ 7650 (3) 3825 4 7750

4 inen and 6 women finish a job in 8 days while 3 men and 7 women finish it in 10 days.

- 10 women working alone will finish it in

4 fdstoen, 6 hen 8 DAV B e’ or0 Do @B O 3 oo, 7 Q0
10 Ferd Hrg Do 10 2od Boen Gr(Ed @ DD Y Fahérdd oRdERD
oo

(1) 24 days (2) 32days (3) 36days (4*;/ 40 days
24 e 32 feren 36 Seren 40 &eren

17 ' P10
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94,

a6,

97.

98,

99,

18NV-I8

Two persons A and B together can do a work in 30 days. After A and B worked for 5 days,

C joined them and they together Onished [he work in another 20 days. Then the number ol

days in which C alonc can complete the lolal work is

A, B oF agd dgdew 500 af D0 30 Pered” 9rg dubiom. A, B w agd
(8]

5 Baren B0 5?36 SHard o8 C o He8 dengrdh. & dnihdh E85 © HIY Sid
20 B S® o TH Twdo HIV C 2% 8 Hro oo Fawre é;m/g

(Iy 60 2y 75 3y 90 (# 120

If the diagonal of a cube is S\E m, its volume (in cubic metres) is E 3 J

2.8 P8 E8o i 5\{5 &@gwé, ol FudBnidras (b i‘ud)g@*)'

(1) 150 (2) 145 (3125 ' {4y 120

[fn = 10838, then the ﬂigit in the units place of n° s [: H- '}
n=10838 wawd, n’ & w8 r5ed'd wod _' :

1y 4 @ 2 @ s @z

: . 1yth . 17rd =
A, B and C started a business. A invested (;J of the capital; B invested (Ej' of the
kR

capital and the rest by C. IT they got a total profit of ¥ 3,000/-, then the C°s sharc of profit
s €37 .

A B C e ajgé FLIPOD) (SoPorrd @R Wpudd é Hody A,
2OOKE C 0BE, SO Iwdo w30, 73,000 & C aeé '

1y 1,500 (2) ¥ 1,000 3y T1,400 (4 TF600

1
i o
3 Sody B,

The smalles! posilive integer which leaves a remainder 3. when divided by 5 and leaves a
remainder 5 when divided by 7.is [ 3 )
53 arRoDdind F20 3, 7 3 erfodddik Fho 5 ady Y EQ% &0 grgroso

2

s

(1) 68 (2) 23 & 33 @ 1
IF9x—3y=12 and 3x 5y=7, then 6x—2y= E'j" j
9x-_—3y=12,3x'—5y:—~?&901336x -2y :

(1) -3 ) 4 @) 2 : @/s
IT 7% ol 900 is equal o x % of 200, then ¥ = E 2. j

900 &5 7 e 200 & r rer0d ééﬁfﬁéﬂmi x=

. 1 1 . ]
(1) 14 _(A)/s I Gy 3% @ 213

100.

“The least value of k such that 735 x k is a perfect square is C Lj‘ j

735 x k 2% DOLRG HEDE, k Ty EIH Jewd
I EEGUI ] @ 7 @ s

18
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101.

10Z.

103,

104.

106.

107.

108.

What is the remainder when 3'" is divided by 4 7. ; E 3 j
3105 4 & grnodm b)) BEod ?

y 3 @ 2 (3/1

Tﬁps A and B can fill 4 tank in 10 hours and 15 hours respectively. The lime taken (in
houts) for both the taps together to fill the tank |8 | : =

o E8Y A, B o dodpen H80m 10 Hotow, 15 Hokd® dobiioh. « Todr S8R ©
g0 Do Bwako Howos® '

“@ o

m 1% ® 3 &¢ - @

If the di agonﬁls of a thombus are 12 cm and 18/cm, then its arca (in sq. cm.j 10 9 j
2l Dbrseatinyed) DEgren 12 250,50, 18 D0it. wond i) Freego (0. V0.oD. 2&°)
(1) 216 @ 108 3 54 (4) 180.

A mierchant prepares the market price ol the arlicle at a profit of 40% and sclls them giving

“a discount of 10%. 1f an article is sold for £ 630, then its cost price (in rupces) is L2 j

a8 DYk D0y B 40% ergfold Do HEBod oUR 10% Sdod B Ee. wE
Sidn T 630 & 0@ @i FHIe (Sraraned®) ’
(1) 600 (R 500 (3) 450 (4) 400

If the speed of a train is 92.4 kmph, how many melres wonld il cover in 20 minutes ? E 1 j
o Ton Bito KobZ 92.4 8.5, wond ©d 20 Aerd” 3F) drdo AL Te S -

(1\)7 30,300 (2) 3.080 (3) {4028 @) 4280
gt 3 ] = ' '
If Lg) of a bucket is filled in one minute, the ;ﬁcst of it will be filled in [ %, j

4 i ;
o WS IS T ok Dodhirds ¥ dfndo HPE, WADY grio Doherds swhold

(1) 9/4minutes (2) 1 minute | 1/4 minute 4) 1%- minutes
: 1
9/4 Jabaren 1 Ao | 174 Dovapen 13 Qevaren
The average of all the prime numbers less than 20is : L ‘-j ]

20 $0B SEypd Gy [P Honge Hoedh

1y o° @ 915 () |95 ay/ 9.625

If the area of a triangle with base x is equal to the area of a square with side x, then the
altitude of the triangle is bk

e x Heo |Bihe Frego, gheo X i B BTergds DErRd o (Behe a5

b g @ x Oy 2x L@ 3

19 B.T.O.
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ML s S« ; : ;
109, 1f 3= = 55 thenx 1y = Es g
S = . .l
4r+y -jgeondxiy= ;
1y 7:10 @ 6:1 (3)/1:6 _ @ 10:7

110, The area of a trapezium is 220 5q. crn. and its he15ht is 8 cm. If the sum of the non-parallel
sides is.20) cmy, its perimeter (in cm) is

w8 Ddvomoer ﬁu&aa aﬂogo 220 5. 200w oD me‘éu 8 200.50. oD PirosEosed

e Tneo 20 0.0, ey oo ol (Ro.d. v
T s @ 10- (3 100 @ 65
pit i . 4 |
(i) Algebraic and Geometrical Ability : (Marks : 30)

: ; 1
11 8 1 182 - 8x + 1= 0, then the value ol x + ;is E L|- J

-

280 18 - B+ 1 =0 wan@xr+T Detd
1 @ 2 3) 3 @/ 4

g

112, Among (he following (p — q) — ~p is equivalent to E Z j
(8oB oAS” pog)—>~p8 Heghcho
(1) paq @ ~(prg) [ p @ q

113, Il a set A has 3 elements and anolhcl set B has § clcments then the numbcr of relations
from A to B is f

28 S8 A S 3 droses, 35% B8 B & 5 rosre sod A Hed B & fo
Bonogre Bogg

1) 15 & 2° [(3) 2° (4/215
114. IfA={4,5,6,7,8,9},B={1,2,3,4, 5,6} and C= {2, 4, 6, 8}, then A — (BC) = D—J
={43,6,7,8,9},B=1{1,2,3,4,5,6},C=12,4,6,8}, ®a0@ A — (BNC) =
(1) {4.6} (2)/{5, .89 1(3) (2,46} “@ {7.8 9}

115. Among the following, the converse of p > (q — 1) is equwalent to ‘E 4 j
(802 sr0&" p = (g ~» 1) GIoE), Db DU doegtachen
'(l\)/(;vq}.(r—w) . @ ~rvi{paq)
(3 G—q)—p _ @ AV

20
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1186.

117.

118.

119,

120.

121.

If a2 set A has 4 elements and another set B has 2 elements, then the number of finctions
from A into B that are not surjections is 2

28 S8 A G 4 Hroseon, 20°E HDD B &° 2 darosten ﬁo@f A Eﬁaoﬂ B & &S

| Pehotred® do|fdo 5o & n)O;J(’,

(1 16 @ ) 4 @ 8

T () = 127 — 8+ dx — 1 then §—2) + f{2) + f(— 1) + f{1) = Ut j
fx) =12x" - 82> + 4x— | wond f-2) +A2) + A= 1)+ (1) =

(lx)/r— 84 (2) 84 3) b (4) 434

cos 1%-cos2®-cos 3% ....cos 179° = - t 2-_ j

iy -1- 20 (3) |180° 4) 90

It 4 set A has 7 elements, then the number of subsets of A having exactly one clement in

eachis [ L 1 _
e Hd A & 7 hvestenod, A g | @b St ef e durelo &) &
abeie éoa_:g

2 @ 2 @ [ @7
ﬁn 170° +1an 55° +~1an 170°  lan 55° = [.2"‘ :(
(1} tan115° (1)/tan 45° {3) - jtan 105° (4) tan135°
sin 83.° cos 53°—cos _83" sin 53° = E 3| 3
o @ L o' @ o

122,

123,

(N/% @ 5 ¢ 2 @ 3

‘.;
Tf 180° < A < 270°, 90° < B < 180°, tan A \f_ and sin B = £ . then the value of-
sin (A—B) = £y '

3 ;
180° < A < 270°, 90° < B < 180°, tan A =+ 3,Sil‘lB=}'2£ wond sin (A -B)=

mo @1 - ®4 | (3'{32@
18 E II J

: 34+ 5
The slope of the line 2

4y —
x+S 1
Ow Gy 7=y T

=]
o

21 . RTO.



124,

125.

18NV-08

The Y»ilnter;:ept of the line %—7 = 4%; ] is _ E Lf J
R [ §_YT—_7_ = 4x'5+ I Gy, y-wadd podo
& @ 1 1o 2 @ 2
4 cosec 150° +3 sc;:z 210° E ] J
5 tan 225° + 6 cot? 330° |
W 3 & 5 ® = @ 7

126.

127,

128,

129,

130,

A person on walking 20 metres towards a chimney in a horizontal line through ils hase
observes that its angle of elevation of the top of ihe chimney changes from 30° to 459,
Then the height (in metres) of the chimney is t 2 J

o Bg8 a8 &0 fPho daiD £8z03 20 gbe;éo ‘655{)&;@:)3,9) & @i o Apdo
gy, 41865650 30° o) 45° K r0dgoT KLY, w D FPEo I (byd®)

@ 106/3 + 1)

ORI VE () 2083 @ 20
The remainder when 91 x 93 x 95 x 97 is divided by 18is | 3 |
91 x93 x 95 x 97D 18 I 0 HTy Feo

(n 12 @ 10 & 15 @ s

A polynomial in x leaves remainders 2 and 3 when divided by x + 1 and x - | respecti vely.
Then the remainder we get when that polynomial is divided by x* — 1 is a &y j

x & nE 05adad x + 1, x -1 3 grfd% 33 Bores REGM 2, 3 wond, 6 2FTVHED
-1 3 el ey o

3x+2 3.3 | 4
S @ = R

=l 4,

@ 2

The 11" term of the series 81, 27,9, .... is

81,279, ... (Fe85° 11 & Ho

1 1 1 w1
("}/7_2_9 @ 243 3) 7187 & 3@
The sum of first 12 terms of the gseries 5, 8, 1,1, ... 1§ E ] J
5,3,1,-1, ... Be3S° Sl 12 Hore Endo
(v -72 @ -36 (3) -48 “ -108

23
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131.

133.

134.

135,

- 136.

T3

lilﬁ. L:mx—-x _ ' C = j

=0 x
(1 1 o
{1}/ 0 : (4} does not cxist / Bﬁséigéo sv.c‘.ia_.

; limlT_x= ‘:I‘J

s e I iy I
5 3 5 : 3
By 3 2) 3 & 7 .
Ify =25 .@f = ' 11
Ify =28 ¢ mk(ir_J_r e L_
{u/ 0 @ 22 (3) 2 4 =22
W P T
Iff{x}——iz_] ghenf'y- | 2 J
f{.r)=§f: soud (2) ~ |
8 -3 i 5 , =5
M 3 fu/ 03 ® 3 C. B

The coelticient of x!* in the 1)1'0ducl (-1} x—-2)|...(x—16)is C 3 j
020 (= 1) (x -2) ... (x—16) &° x'¥ GIngy, o

@
(1 a6y @) 136 @ <136 @ —@6)!

If the sum of all the coc(ficients in the expansion of (1 + 3% - 2% is 128, then the greatest
cocllicient in the expansion of (1 +2)" is - /

(1+3x—2x%" Joen &5 torasrodnd Fwdo 128 mowd (1 +x)° ks & KO Moo
W 35 @) 21 (3) 49 (4) 14

IT A, B are 3 x 3 malrices such that det A = 2, detB=- 1, then det (4 AB) = E )-f - j
A,Bw 3x335r@%e, det A =72, detB=—1 wond det (4 AB) = ' _

i) ©uilf ) -32 (3) 8 4y 128

23 ' ' P.EO,
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[2x+3 -4 , , '
138, 1['A=;L £ HT D }and1fdatA=(J,thcnx-- [‘_Lf j
2cF3 —4
A= det A=0 wondlx =
x+T 2 :
3 17 ' s 14 —14 17
M o o = il @

139. If o, B are the roots of the equation 7x — 8x + 6 = 0 then (o + p2) (o + p) = [3 j
7 —8x + 6 =0 3¢ SVECer D8 dareren o, f wond (o + ) (o + P) =
=20 20 -160 160
U T () 49 & 33 @ 35
140, The distance {in metres) between two parallel tangents drawn to a circle of arca
616 sq. m, is (Take x =% 4 i '
616 3.0, Brogo Ho Hygds D Sod Sredd H 5 dpe Rgdrto (RwhdST)
2 2
(n =27 ™ S8 08)

s 28
® 14 @/ 28 & @ =

(iii) Statistical Ability _ _ s (Marks : 10)

141. If the Mode and Mean of 5 data are 44|and 38 respectively, then the Median of the data is {‘_?;I
el Sgrowf wiraPEo, wolinggino HSRM 44, 33 wond © Soroerdd SogigHso

(1) 39 @y 40 (3) 42 @) 43

142, The Median of the observations 108, 343, 721, 39, 74, 192, 48, 10, 123 is [: J j
BOJerden 108, 343, 721, 39, 74, 192,148, 10, 123 e ?"mc]ﬂs(‘iéo

{ 108 2y 123 . 3) 74 {4y 721

143. If two dice are thrown, then the probability that the sum of the two numbers obtained is a
prime number 1s C 2. ; -
Boch SO¥ey ROKHPE G $H) vose o wf Hovd Sopg seHERE
Dozrdg v

3 5 1 3
0 13 (3-)/ ) 3 3 @ 3

24
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144.

145,

146.

147.

148,

149,

150,

The arithmetic mean of the first 7] natural numbers is 1:—_3 j
Scsel 71 Gires dopge wol SngSgEn

n 72 @ 7 (SL)//BS (4) 355

If & letler is selected at random from the first 15 letters of the English alphahcl, then the

probability that it is a consonant U e S
woff wEdire &' B 15 sfoe Bod ag ©Eo), WP B0 oSS ol

©E50 28 Srep &y Dogrigd

4 1] 1 & e
(1 13 & 15 -BE T W 3

The variance of the observations 73,74,75, ..., 84, 85 is EL]' j
BO%eden 73,74, 75, ., 84, 85 & S

M 17 @) 1 @ 17 %14

If B, F are two events in a random experiment such Lha‘r FE) = %, P(F) = %‘and
P(END) =‘1|_21hen P(EUF) = T: 2 j |

S ORI B B F o Shk huter B - 2 PO = 1,
P(ENF) = % ®ond P(EUF) = ' '

W g of § ®g . ow L

Tf & number is selected at random from the first 120 natural numbers, then the probability

thal it is divisiblc by 6 or 8 is =

S0dsed 120 Do Domge o) 2. bo@gt&n X jiyEomr QU oH, o Sogmg

6 8o 8 F grhododirs éoa‘,r‘a‘:gé e _
e ' 1 ! e &

W 5 @ % & @ 35

For two positive real numbers, arithmetic mean and geometric mean arc 13 and 2
respectively, then these two numbers are & s _ ; :
Doy 55 amifih ;‘}o:)agmuéa wo¥ pﬁ;‘,dgé.]o, aed E.’)Jc;ég?'mo HEdT 13, 12 sopd w@
Bosen .
() 125135 ' (2) 12,14 (3/8, g 4 18,10
If a leap year is selected at tandom, then the probability that there will be 53 Sundays in
that year is & : '
ey Dy Borr SoWED 2.8 O DSBS 53 wdmrrrerod dorrigd

1 e B 2
3 2) 5 f*( 7 4)

25 ; P.1.0.
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SECTION - C
Communication Ability

Qtlcﬁtinns 1 50 Marks : 50
; FART -1
Choose the correct meaning for the word given :
151, Contiguous o 1 '
{1} Infectious : (#J . Adjoining
(3}  Unlawful : : {4) Prohibitive

152. Homogensous L3 J
(1) Treated milk
(2} . Human beings and animal groups
{33/ Parls or peoplc of similar typs
{(4)  Words spelt similarly but having different MEAnngs.

153, msagieate 1 3 -
( Unable to be satisfied (2} Not complete
(3) TFulfilled (1) Covetous
154, Knick-knack |2 )
(1) Game {ﬂ/- Small ornament
(3) Knock (4) Snack
155. Haughty (2 ]
(1) Sporttive ’ (Z/Disdaiu ful
(3) Naughty (4) Disconcerted
156, Grandiloguent 4] :
(1)  Grand plans (2) . Great future
(3)  LIxaggerated { Pompous
- Fill in the blank choosing the correct word :
157. When the accident happened, the car was speeding down the highway. ):(-f j
(1) depraved {2)  deprived i
(3} dislocated - (@ deserted ’
158. Ilewss - fromthe counlry when his visa expired. { ! j
{ repatriated {2) migrated
(3) deporied ) (4}  exported
159, The three countries have signed a | = pledging to work together in the health
scheme. [ 3 :
(1} memonal (2) memorabilia
(3)” memarandum {4) memoir
160, The judge promisedto _ the injustice done o him. _[:3 j
{1} remove (2) abolish '
{ redress ' (4)  cempensate

26
{



161.

162,

163.

164,

165.

166.

187,

1468,

169.

170.

isNvaeE - S

J PART +2
Choose the correct answor !
A deed is ]:3 :( ' .
{1) any wrillen matfer. (2) | a draft of annulment.
( a legal document. : “{4) | apresent.

The concept of ‘gangplank’ implies t, e | j
(1) doing things through proper channels,

(2) ,- decentralising things.

(3 dcfying established hierurchy.

{(4) clinging to a tyrannical authority.

Jub specific tesls that ave designed to predict|the potential of un individual to perform tasks
are called [_ 2| |

(1} personality tests. (Z¥] aptitude tesls.

(3) intelligence tests. {4} | verbal ability lests.

A section of a Government department in charge of 4 particular activity is called a [FLJ j
(1} diocese. (2) | compariment. '

{3y collegium. (4y] wing.

‘Benchmarking’ is - EB j

(1) increasing sales. :

(2) . obtaining a brand mark.

(37" setiing a standard for performance.
(4)  opling out of competition.

HTML means E 32 j

{1y _Ilyper Text Moder Language. (Z)| Tlyper Text Modem Language.
(35)/ Hyper Text Markup Language,  (4)| Ilyper Toxt Machine Language.

The installation wizard in Windows cannot LI j

P perform automatic search. {2) guide through screens.
3)  install hardware, (4) do quick instal_lation.
GPSrefersto L3 3

(1) _Geo-Positioning Sysiem (2) Geo-Processing System
{3_)/ Global Positioning System - (4) Global Pointing System
Which of the following is not an input devige 7 | j

(Y~ Printer 2] Keyhoard

(3) Lightpcn {4) Scamner

The technigue of creating a serics of graphic frames to give di appearance of continuous
movement is called | 2-7)

(1) hooling | ’ (Qj/animation

(3) diode (4} graphics

27 ] ) P.T.D.



171.

- (1) curefrce.

174,

175,

176.

177.

178.

{Choose the correct answer ;

PART -3

1BNV-08

A ¢ T'm terribly sorry, John. T forgot your birthday. I don’t know how it slipped my mind.

In this conversation, the speaker Bis |
{1} apologetic. :

2} angry.

o
(3)  disappointed. ¢ |.(4}/ understanding,

(1)  they have buill a housc of their own.

{2)  they are not on the road today.

B 1 That’s O.K. T was disappointed th Jlﬁg,h..l know you were very busy last week.

- “Had they buill a house of their own, thoy would not have been on the road today” means

e

(3) - they have not built » hause of their own but they arc not on the road today.
own and sc they are on the road today.

{4y they have not built a house of their

B : Should T? Forget it.
B3 reply shows that he is

{3)  callous.

The passive form of ihe sentence, “Do not beat anybody™ is E j ]

( Let nobody be beaten by you,
(2)  You shall not beat anybody.
{3). Domnol be beaten by anybody.,
(4} Nobody is beaten by you,

3. At Remember fo wear your safctly belL m the car, ELI j

(2} full of care.

( careless.

L

He was pushed to the wall and so he had to resign the menthership of the party. ES j

The sentence implies that he was
{1) _ in.ahappy positon.
{ ina desperate position, |

“Sudheer is the last person I°d trust with

{Z) pimned to the wall.
{4) confined to a cell.

a secrel’” means

(1) - Sudheer is the most suilable person to share a sceret with.
Sudheer is the least suitable man to share a secret with.

(3) Sudheer is not an unreliable person,

(4) Sudheer is a troubleshooter,

I don’t like to playv second fiddle io anvone . [:_ | 3

The spealer does not want to.
play u supporting role.
(3) play others’ fiddles.

(2) playthe lead role.

Ce")

(4) borrow anybody elsc’s fiddles.

Fill in the blank with the appropriate phrase/verb/preposition :

I1’s lime you put pen paper and
io
{3} and

replicd to the CEO’s letter.
{2) on '
{4) at

28
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179,

180.

181.

182,

183.

134.

185.

186.

o

‘Doesn’the © his father ? C 2- |
(1) take back (2)7 take after
(3) takeup (4) | take in
He did not know the answer, C: | I
(8 Neithor did I ) | Rither did T
(3)  Neither have I {4) | Bither have 1 e
I'm sorry he disobeyed instructions. I'll take him __when he gets back, i3 j
(1y afler (2) | amiss :
(3% apart ' (4) | bak _
Wage increase must be commensurate with the pressures of A E [ j
(l_h/inﬂation ; (2) | depression
(3) deflation (4) bureaucratisation .
The company is forging with its plbns for expansion. E z J
(1) forward () ahead -
{3} on (4) | through
Intheend, itall a question of trust. E L}‘ j
(1) getsround to (2) |_adds up to :
(3) foelsupto { comes down to
Despite our disagreements, we have heen ablete  anaccord. [;L]- ;l
(1) rcach (2) | lovate
(2} find {4y strike
|
PART -4

Museums must make their collections accessible: Tn the past, this simply meunt
packing them into display cases, often with wordy labels thal made little concession to the
lay persan. Nowadays, accessibility should cilcm und more than this. Displays can be lively
and interosting, making the best use of theatrical or architectural techniques to capturs the
visitor’s attention and perhaps stimulate emgtional response. But museums should be about
more than their displays. They should make their collection accessible to the widest
possible community. The provision of loa boxes of objects for class teachers is ane
known example of this, and recently this pnpmplc has been extended by some museums so
that similar material is made available for usc in treating elderly people who are losing
their memory. . rj '

Museums concern themselves with “artifacls and specimens’ — not replicas. They
cxist to facilitate an cneounler with authenticity. They present items that actually existed —
were used — had meaning — at some historical time. This is a great strength and is what
distinguishes them from heritage contres and theme parks, books and CD. ROMs.
Museums which rise to the challenge, which this distinction implies, and provide exciting
and accessible displays, catalogues and outreach programmes, will find that their apparent
competitors in ‘virtual history” are in {act their allics, stimulating an appctlle for the *real
thing’ that museums are uniguely placed to datisfy,

Read the following passage and answer quef{ions 186-190:

According to the passage, museums must make their collections d.CLSbSlb cto E ] j
{ lay persons. (2)| buyers.
(3) rescarchers. (4)| general public.
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“But.museums shoyld be ahout more than their displays.” This sluterment means : E I ,j
( They should go heyond their vi syals. -
(2) © They should have more space for their collections. |

(3} They should have wordy labels,

(4)  They should have more displays. |

Museums are different from herita g6 gentres, theme parks, books and CD-ROMs because

they deal with ] C 3]
(1) _exciting ohjests. _ (2) replicas.
; (11/ original objects. (4} modern objects.
5] ' ; '
According to the passage, (he “provision of loan boxes of objecis™ helps museums EL} j
{1)  bccome popular : (2) serve society : .
(3)  get publicity | (¢¥ make objocts aceessible ta more people
|
The “real thing” refers 1o E | J
anthentic displays. {2) catalogues.
(3) outrcach programmes. X (4) wvirtual displays.

191,

192.

- Read the following pussage and answer questions 191 - 195 ;

‘A stamp is, to many people, jusi 1 slip of paper that takes a letter from one town or
country fo another. They can’t understand why stamp collectors find so much pleasure in
collecting them and how we find tine to indulge in our hobhy. To them it scoms u waste of
time, effort and money. But, they do nat realise that many find the effort worlhwhile and
many who, if they did not spend their time collecting stamps, would spend it less
profitably, In our lsisure hours what beltor occupation is there to keep us out of mischief
than that of collecling stamps? An album, a packet of hinges, a new supply of stamps, and
the time passes swiftly, Stamp-collecting has 1o limits and a colleetion never has an end;
countries are always issuing new stamps to celebraie coronations, great  events,
anniversaries and deaths. And the fascination of collecting is in obtaining these stamps
before onc’s rivals. Every sphere of stamp collecting has its fascination — receivin g letters
from distant countries and discovering |old stamps in the leaves of dusty old books. A
stamp itsclf has a fascination all its own. Gazing at its litile picture we are transported to
the wilds of Congo, the homes of the Arabs, and the endless tracks of the Sahara desert.
There is a history in a stamp. The ancient Roman Empire and the Constitution of America,
India’s Independence and the Allied Vigtory, arc all conveyed to our mind’s cye through
stamps. We see famous men - printels, writers, sciantists, soldiers, politicians — and
famous incidents. Stamps, so small and mimuts, contain knowledge that is vast and
important.

Stamps take us through [ 2. ]

{1} albums, { history,

(3) old books. (4} dusty books,

Stamp collection profits one to [ 2 ]

() killtime. ' . 8 keep out of mischier:
(3)  get fascinated with pictures, (4) become complacent,
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A slamp has :I ' 1

(ly" an inherent fascination, (2)| only official value.

{(3) no faseination at all. (4)| no historical value.

The jonrney of a stamp is info L’ j _

( the past, (2} the world of fuufile fantasy.
(3) thewaorld of savagery. (4)  the mazes of the future.,

The passage is a contemplation on Dz,, j
(1) stamps and their ignominious history. |
(2«}/ the nscfulness of collecting stamps.

(3) the compelition in collecling stamps.

(4) stamp vendors.

Read the following passage and answer questions 196 —200 :

llow do you undersiand multiple intelligences? In 1983, Howard Gardoer, a ITarvard
University Professor, developed a theory called Multiple Intelligences. In his book Irames
of Mind, he outlines seven intelligences that he feels arc possessed by everyone |
visualispatial, verbal/linguistic, musical/rhythm, logic/math, body/kinesthetic, interpersonal
and intrapersonal. i 1996, he added an tighth intellipence : naturalistic. Tn short, il you
have ever done things that come easily for|you, you are probably drawing on one of your
intelligences that is well developed. On the other hand, if you have tried to do things that
arc very diffienlt to master or understand, you may be dealing with material thal calls on
one of your less developed intelligences, If playing the Fiano by car comes easily to you,
your musicalirhyithm intelligence muay” b very strong. Tf you have lrouble writing or
undersianding poeiry, your verbal / linguistic intelligence may not be as well developed.
This does not mean that you will never be|able Lo write poctry : it simply means that you
hiave nol Lully developed your skills in this area.

How many intclligences does Gardner speak aboul ? =1 1

{k)  Eight - (Z) Seven

(3) Multiple (4) Innumerable

Inability to perform a certain tusk indicates|lack of -

{1} spatial intelligence. {23 task-related intelligence.
(3) mnaturalistic intelligence. (4) interpersonal intelligence.
What does “Kinesthetic” mean ? E: o

(1) Dynamic {Z)/Scnsory :

(3} Flexible {4) Musical

What type of intelligence do people who can think in pictures have ? EL]' j
(1) Musical ()  Naturalistic

(3) Linguistic (4" Visual

What does trouble in understanding poetry mean ? E, H‘ j
{19 You are not a master of vocabulary. '

(2)  You failed o visualise u picture.

(3) Youdon’t have kinesthetic intelligerice.

(4)/ You have not developed this special skill.
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